EEA/STC/111 - 2016

=
Notaealiss g0 06/ o018
A ssnlonnd Exeovduie Emgimtdh LAEE)

556 ¢38e5 So.

SCREENING TEST Series
(Civil Engineering) nhse

Time : 150 Minutes Max. Marks : 150
5e0a030 2 150 D300 SO Sij‘d:zj.ev : 150

3.

INSTRUCTIONS (2g%s0e)

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect in
the Test Booklet or Answer Sheet, please éget it replaced immediately.

5% S@5nE o) BHHey I0PoBGSS B WrnEINB. % BSS08° Y, SErers SEsne®
DFv Sss0sS o0 Fusnd IEETID Jod EESIB.

The Test Booklet contains 150 questions. Each question carries 1 mark.

(5% S50 150 SHHD. 657, EBHD 1 Srddy, BeronosndIs.

The Test Booklet has three (3) sections, i.e., Section I (General Studies & Mental Ability),
Section II (Civil/Mechanical Engineering Common Syllabus) and Section III (Civil Engineering).
Each section contains 50 questions and each question carries one mark. The question of the
Section I i.e. G.S. & MA are set in English and translated into Telugu. In case of doubt English
version will be considered as authentic version for valuation purpose. The questions of the Section II
& Section III are set only in English as per existing pattern.

B 3% SES» S Jermrerr esm S 1 (3806 360 mbam owd J08), dES II
(596 205058 3082000 S8 Dowd) Hoaw &S I (K36 502900f) &nd. ES Jgrizn 50
SHOD, BB ©F) &8 5t KON &30, VES 16D SHe 30ime’ Sairtd Sahad Seid FIds T
éq%;ﬁr BEHDASD. BIrrS SEsw DB0Y) BAISp REANE'W BF) (SSredsSon T S2HH0B.
255 11 S0005 &S5 1ML &9 S emad ¢ 568 E5°5o S5o8n 308 Salrth Savadsd.

The Test Booklet is printed in four (4) Series, viz. @ The Series, or or or @
is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or or or @ in Part C on side 1 of the Answer Sheet by darkening the appropriate
circle with Blue/Black Ball point pen.

) S5 Teord Sswed® (Series) e [A][B][C][D] sgsned® sw@osndss. & sgswes

w3 [B] 2 [C] md [D] 0 (5% 30 Swl, 55th b AT 3008 S0BoSEHE. HINS B
S St 3¢ (Series) [A] ™0 [B] ma [C] w2 [D] md surees 3o e85 3 2§ C Sotk
0850 eronosnds SyEsm ay/ars 7S oo DS Sgr Hg JoBIBH.

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

®@ ® 0 O®

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.

o (5%, 3850 Dok, BPnS (Series) SErerS 5@ 285 JH& FF C & wGodsFaner 85 169005
e (SHS(S S5 IS5 BrHTHEH ITEEITH 70 HHOM & eubos 89 Sosthsved’,
50 JewSosd TPk &8 Ionsord Sirprd SEsn 3689050 (invalidated). 823 /000
DewSoed SEEEEREEEeD BOBLEY.
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5.

7.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball point pen to make heavy
black marks to fill the circle completely. Make no other stray marks. Use of whitener is prohibited.
If used, it will lead to invalidation.

50 BHD TN PIrEESIe FHWESD. ©oHE SOALH BTw FRFR ISrES IS0’ BHO
Beronosads ;’:Jg:mm o d:ug LODSS. el m"é’{)s‘ma QES SHBSwoD 3)033;5«5‘. 8 [rgrdan
508008REM. S T g H JoHeH 2/l oS Fonod Iy TESBH. GISBEYH
Hoge0 DTS, BESSE Tty DBHOBLDNB. TEST SIreeD Ssn $68cBh.

e.g. : If the answer for Question No..1 is Answer choice (2), it should be marked as follows :
SO : (%) B, Edomy 1 8 woraw (2) woRTHRE T B ol IR HBOBIBD

110/0(0|®

Use Blue/Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.

BErEE SER) Jonerdd O BE Iy rd Fowo iy IED TEITH 800 JIrEES BGSW
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Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will
lead to invalidation of your Answer Sheet.
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BN FE A S0 en/eTE &8 ool BEnE SO SEsved Sgre Hf HRONIBH. eowgSa
B 85 2T, Ao BonsHona HErg Sgsn $09DoMsws,

Example : 1f the Paper Code is 027, and Roll No. is 9564038764 fill as shown below :
GOt :  Su6 58 027 20akn &S 0. 956408764 ©onSS (0 Srhd ST JoHSW :

Paper Code Roll No.
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8. Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.

Bureed S@sné® Sronods gesnd SUPEHd (Invigilater) Do), So8ESnd DoLSBR. BSEH
BEEOHD HoBESD BRrTS 3Bs0E’ oSS ©d S0IdoseEh.

9. DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.
Bo Wisn S P 6D 36T, SGsH SEsesemd, Asen Acbsw ™, Dodeor, S Sapiso
RaDeasmn 0 0SS Do SSreed HGBSw $68050Em.

10. Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
$5rees SEsos’ Do wren S Pk, Gb, Sayt B O IS Begrren SEo ToTe b VPGS
S50 0B

11. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
REPTHEROD S0P HFoBTrE. B eSERodSE SEom SoKeonth.

12. Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
565 6% 500 DGID®, OFY S5 SIFEES IS wOBIE (PHIF) IGIW) SH,E &) SEFEHS
(Invigilator) 32y, 559 (duplicate) $3rg S50 (§0d JBSw) 838 B IS0y

13. Programming Calculﬁtors, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.
(ool S°D§:§é§eo53, Ke3s/oeh Sendy, @S, wp rd VST do> Jewsodd JoFIS
$OEEIWoR S8 Feod'DE eHBoTED.

14. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2-3— Hours. No candidate
shall be allowed to leave the Hall in the middle of the examination under any circumstances.
30x Fof egipor 365 T8 edby S50 (2-;- Kotsen) &oESB%. 988 S 4] BoRHeESH
2300 H505eatsto.

15. If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

O ogif eona Dloi/sD Sl ?e@waé BeHEDBL0S Th GHATASD WO W, T
100 HT.

16. Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.

55 365 3% 3o’ 956 HAE® S Sared. 33 G & Saho.
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SECTIONT
Passage for questions no. 1to 3 :

Lalitha, Raja and Rama availed the discount offers
during a Big Diwali sale. They purchased one item
each with the highest discount being ¥ 125. The
blue coat was not purchased by Lalitha. Rama was
happy to get a discount of ¥ 90 on the item bought
by her. The discount on the red item was more than
that on the pillow covers. The discount on trousers
was not T 50 and the trousers were not bought by
Lalitha or Raja. One of the items was green in

colour.

Answer the following questions :

1.  What was the item bought by Rama ?
(1) Coat
(2)
(3)
(4)

Pillow Covers
Trousers
Do not know

2.  How much discount did Lalitha get ?
1) 125
(2 ¥T90
(3 T50

(4) Do not know

3.  What is the colour of the item purchased by
Raja ?

(1) Blue
(2) Red
(3)
(4)

Green

Do not know

(4)

?o§5 I
(#5Teadn (5%, o, 1 H0d 3 :

o9, TEr HOA® K g SFBY emnyEsns’
Tond P SPHW Toyn. Ty S 59D
STyth 0 708 o808 000D3 ©8 oS
ond T 125. 088 I Soin Sen T8, 5% £
SR 2 T W0 ond oHodSo®H e
KOS EN0H. IHY SO Sy oHodS rond
Both Mo e ©PoIS Tand S Ny,
F0bw 6 0oV Tond T 50 T SO ©dE
s o 5 goew . £F) SPHos” 2.k
&% By oS’ &od.

BB BHEH BErErH0 FaHod

L 55 §8) 3599 23 ?
(1 Sew
(2) 6ok Kdoen
(8) Drgotm
4) 88D

2. ©98% Jos rand vdHodod ?

() T 125
2 T9
3 <Tb60
4) BOHX

3. Tz 58 S Sord el ?
1) DO ot
(2) A0
3) e Sy
4) B3dab
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4.

5.

If the data based on workers salary is as 2500, | 4,
2700, 2600, 2800, 2200, 2100, 2000, 2900,
3000, 2800, .2200, 2500, 2700, 2800, 2600 and

number of classes desired is 10, then the

width of the class interval is
(1) 400
(2) 300
(3) 100

(4) 200

Difference of mode and mean is equal to
(1) 3 (mean—median)

(2) 2 (mean - median)

(3) 3 (mean — mode)

(4) 2 (mode — mean)

The length of the coastline of Andhra Pradesh

(5)

in the nearest whole number of kilometres 6.

is

(1) 924
(2) 964
(3) 974

(4) 984

(D]

B0 B8 JSGSswen 2500, 2700, 2600,
2800, 2200, 2100, 2000, 2900, 3000, 2800,
2200, 2500, 2700, 2800, 2600 BN THeDY
SEH%e Doy 10 ©ond, SEHE ©oBTIN
Jod ?

(1)
(2)
3)

(4)

400

300

100

200

EPTOVESD 0ae Difewe g OS50 Se

208 T8 BEFHSD

(1)

(2)

3)

(4)

3 (1006 ~ Bogigresisn)
2 (e - SoEgHEsw)
3 (Wifen - eiTodESD)

2 (ersoeEsn ~ SKw)

so B85 doSn By, FED), d8wLys
(& 80d & B0 Hogy)

(1

(2)

(3)

(4)

924

954

974

984
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7.

What percentage of the country should be
covered with forests in order to maintain the
ecological balance ?

(1) 23%
(2) 31%
(3) 33%

(4) 47%

What were the parameters adopted by Suresh
Tendulkar Committee to estimate poverty in
India ?

(1) Money required for stipulated minimum
calorie intake

(2) Spending on transport and housing

(3) Spending on food, education, health,
electricity, clothing and footwear

(4) None of the above

What is the guiding principle behind
establishment of NITI Aayog ?

(1) Collateral federalism
(2) Competitive federalism
(3) Compulsive federalism

(4) Cooperative federalism

(6)

(o]

STITE BPHO R oD B¥508° Jos
TEID SBEENOE E5wé Gowed ?

(1) 23%
(2) 31%
3 33%

(4) 47%

DB wouT Iaoed 3§ Sotre)s
52083 S Tosenr d0e3 ?

(1)  5D338% o 560 5obS (5850
(2) Gres So00K Ky 508 §%0 ptne

B eSS, doy, e, WS S,
adyen S0a g ko ptine

@) PSS O =P

N8 sdrf FHowGEsn NS Ko SrEEL
DETOBBD I3 ?

(1) eaDdBpRY Q30°gs :a::)g
(2) 2630593&?; c‘f}:JJ‘@S ?533_6,
(8) a:;_)ma K}Sﬁra),s "nas:)g

@) DTS sEryy g
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10.

11.

12.

13.

What is the target date for implementation of
GST ? : ;

(1) 1% January, 2017

(2) 1% April, 2017

(8) 1% April, 2018

(4) 81% January, 2017

What is the reason for celebrating 7* August
as National Handloom Day ?

(1) Swadeshi Movement

(2) Civil Discbedience Movement

(3) Ahmedabad Mill Strike

(4) None of the above

Which party is called as the Grand Old Party ?
(1) The Republican Party
(2) Indian National Congress
3)

(4)

Conservative Party

Communist Party of India

Which year was declared as the International

Year of Pulses by the UN General Assembly ?
(1) 2015
(2) 2016

(3) 2017

(4) 2014

(7)

10.

11.

12.

13,

[B]

2.I0.63. ol L Igoswds of
803 & 808 3" HQoHBD

(1) 1 23538, 2017

(2 1998, 2017

(3) 199, 2018

(4) 381558, 2017

odah 338 oTspsn eny DEsdss
BHPTOLD o Eesw % 308 TS
0Q09)Hw

(1) 38 desgsosn

(2) TETgowS et

(3) eForerd gy 3y

@ 5 3859 D =

D oesdan Sogs “Fsy O3 >8” (GOP) v
28,08 & (808 Te3S° Hosm

(1) 0859sS >§

(2) e erdah soRD

(8) 5535 9

(4)  FEdaH LSy 8

& @0d TIE O Sossssn eosTdat
R VARSISVORIRNOR G Se Iy % Toeyy SO
Do), ;ErTes 945 DB ?

(1)
()
3)
(4)

2015
2016
2017
2014
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14. What is the symbol of the Democratic Party of | 14-

15.

18.

17.

USA?

(1) Horse

(2) Elephant

(3) Donkey

(4) Pig

In the Brexit referendum, the vote share of the
group favouring exit and the group favouring

remain was in the following ratio ?
(1) 56:44
(2) 57:43
(3) 58:42
(4) 59:41

In Paralympics, 2016, which of the Indian
athletes broke the World record ?

(1) Mariyappan Thangavelu

(2) Devendra Jhajharia
(3) Deepa Malik
(4) Varun Singh Bhati

Who is the winner of Nobel Peace Prize for

2016 ?
(1) Juan Manuel Santos
(2) Salvador Sanchez Cerén
(8) Carlos Antonio Losada

(4) Timochenko

(8)

15.

16.

17.

(o]

& 208 06" O Sookn§ THes’d
[l ais AN :}é (Democratic Party) 0%
DTB00is0 B/ IHGow

(1) rogsso

(2 drd

(8) ™G

(4) Hod

S foB IdyHed, @ EEHSAW
D850’ oo Wod Wb TZred
S8 ISR Gomrod SSETEne 85D
889 DB Beoro

(1) 56:44

(2) 57:43

(8) 58:42
(4) 59:41

5 grodap o SHE ESol  OSHR®
deroibe 2.dodEy 2016 & wdKLoTE &
8o T8 Hgosion

(1) 0AHHS Horden
(2) B0 BB
(8) & 588

(4) S5 Hoh gred

TS 708 wHvHAD 2016 HOSBISNSD
508 & 80b0E SrdoTd ?

(1) s Srdgd 7708
(2) &95535 FodE 3o
@) =& airosdatr &'
4) &SI
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18,

19‘

20.

21.

What is a light year ?

(1) A year which passed on without

difficulties
(2) Year dedicated by UNO to “light”
(3) Time measured in astronomical units

(4) Distance travelled by light in one year

Deficiency of which of the following results in
goiter and cretinism ?

(1) Folic Acid
(2)
(3)

(4)

Vitamin A
Todine
Zinc

World Health Organization recommends
exclusive breast feeding from the date of birth

of the infant up to the age of
(1) 3 months

(2) 6 months

(3) 9 months

(4) 1year

Natural ripening of climacteric fruits (like
apple) occurs due to

(1) release of ethylene and increased rate of

respiration

(2) release of ethylene and decreased rate of

respiration
(3) release of acetylene and increased rate
of respiration

(4) release of acetylene and decreased rate

of respiration

(9)

18.

19.

21.

ol

S0 HoSBo eI I ?
(1) Egsne0 BHod KEDS a8 SodEE50

(2) oETey SDHS 088 @038 S
BOBE 5D

(8) BHoHS0H Feoihesd  &SNSE
'Y (95800

@) ¥ Ro5EESHE Tod (Haredowd
b oY

& 208 T8 3D By, B Jos roned
(Fose3d) ooty @8d%; (Awmwse
EP550) ST BOEDOL |
(1) 88 egsw

@) Do A

(8) oarGe

(4) 08

SHES FHPDH PPINHED0E ) Srds0o
S5 SSosn 89 Fold FIHOLIOM (BS0
Bl Doy DFTR BusE & @od T&
KHBOHBN

1) Sorch SrRsne SE%

(2) =85 PHSNe 8D

(3) S Srusne STW

(4) o8 SOSHTI0 SEH

L5788 Soty (edS30edD) & Bod TS
32 orgor e S5O IO

Q) 3605 s SBKH DOAS T G
D05

3605 e 28cxw §Bods T
BoH SoD

DS Do D0 DOAS BTG
Bah S8
bS5 s
Todah 308

(2)
(3)

(4) So0atn  delods
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25.

Scramjet uses the following fuel :
(1)
(2)
(3)
(4)

Hydrogen
Aviation fuel
White Kerosene
Butane

On which date was the Quit India Movement
started ?

(1) August 8, 1942
(2) August 8, 1943
(3) January 26, 1942

(4) January 26, 1943

Who is the founder of Arya Samaj ?
(1) Swami Vivekananda

(2) Raja Ram Mohan Roy

(3) Swami Dayanand Saraswati

(4) Gopal Krishna Gokhale

Who sang Vande Mataram at the session of
the Indian National Congress in 1896 ?

(1) Sarojini Naidu

(2) Bankim Chandra Chatterjee
(3) Ravindra Nath Tagore

(4) Rahimtullah M. Sayani

Which of the following was not founded by
Dr. B. R. Ambedkar ?

(1)
(2)
(3)
(4)

Deccan Education Society
Samaj Samata Sangh
Peoples Education Society

Depressed Classes Institute

(10)

m.

23.

24.

(0]

B o8 TS Q SIS0 @0NeSS
&SAFNOY 2td Hod

1) ésad

(2) DI FOLSHD

3) 8g 85583

(4) 8

FEE FBoF Giosnd B 8od TE O
BS5NS o8 S¥s» Hod I eol’ESH

(385 godarlr) Jnedareo
(1) eny 8,1942

@) ey 8, 1943

(8) e:050 26, 1942

4) &350 26, 1943

ety REPESOL FDOIITH IST & Eod
08" 1HosKo

1 e o

@) Tz o TS ored

(3) D SALHHOE BB

@) Rro HRFepd

1896 & SoBsrss Aody o8 =dad
Tofin ISrIESNS ©0b0d58 58 &
o8 788" HBosKetd

(1) %62 Trakuts

(2) 208D Bos $ef

(3) Do =& =rb

(4) CIrofde I, S

B @08 D% noges® 320 § 0.e6.

w086 ™ FHoDAWLB
(1) &5 oy voy

(2) Rores ST SoSD

B = 2o dog

(4) ©nrdd STro S99
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27.

28‘

29.

The words ‘Satyameva Jayate’ in the State
Emblem of India, have been adopted from

which one of the following ?
(1) Brahma Upanishad
(2) Mudgala Upanishad
(3) Maitreyi Upanishad
(4) Mundaka Upanishad

After how many years, do one-third of the
members of the Rajya Sabha retire ?

(1)
(2)
(3)
(4)

6 years
3 years
5 years

2 years

Out of the bills given below, with regard to
which bill, can the President neither return
nor withhold his assent ?

(1) Defence Bill
(2)
3)

(4)

Money Bill
Law Bill

Financial Account Committee Bill

Which is the first Indian State to set up
‘Happiness Department’ ?

(1)
(2)
(8)
4)

Madhya Pradesh
Sikkim
Goa

Tripura

(A8

27.

29,

30.

(o]

BEGHS mond’ el BB G §od TS’
3D ok rod B8 erdad Jpsed
Coplolnbilotmilaly

PR RTS
S0GEBASS

DBDEIASS
S008E° 35S

(1)
(2)
3)
(4)

e5838 SurSothe H0d Ty Dgheeo &
€ob DEYI0ES TS I BoSEE SweH
BP0 B DESoee DKL

(1)
(2)
(3)
4)

6 0SS TSwen
3 JodsyTEne
GRVORT ARV
2 JoI8 TS0

& 808 DF)N0Es O D gros g8
BP0ty ™D, EBrSsn Doy FHes
™ BAHSH

(1) G5 Oy
(2)
3
(4)

(65555 Ben

a"so:b i)eg;;
egﬁ Iiesro¥ Do ey

‘@H0S SN o o O grodad
Togen D5HODHB e $od TS 1HgoiHBN

1) Sy ©BF
@)
(3)
(4)

hébo
e
(Cple
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31.

32.

How many sectoral missions are established
by the Government of Andhra Pradesh as part
of the mission based developmental strategy ?

(1) 12
(2) 10
3) 8

4) 7

What is “CORE” in CORE Dash Board ?
(1) Control Orbit Reentry Exercise

(2) CM Office Real Time Executive

(3) Central Organization Reform Effort

(4) Central Organization for Rural

Electrification

The Indo-Gangetic plains, also known as the
Great Plains, plains

dominated by which of the three main rivers ?

are large alluvial

(1) Ganga, Yamuna and Gandaki
(2) Indus, Ganga and Brahmaputra
(8) Ganga, Yamuna and Hooghly

(4) Ganga, Kosi and Gandaki

In terms of proven Coal reserves, the position
of India amongst the countries of the World is

@) 1
2 8
@ 5

@ 7

a2
31.

32.

(o]
S0 ©BF  Eeosgn  (W3S)  @arr
SIOHTTOSHS e TrgFEwd’
PHSNT Y WBSeH VG5EITE & od
TE° HBoSSD

(1 12
(2 10
(3) 8
4 7

CORE $o55» (Dash Board) §° “CORE” &S
I3 & 808 TS HBoSHED

1) DS S ot 8 § 5399

(2) Sogy o@ sTedd Je B =G
Ao B35

3) Soha Jod)tes Eor 5553

4) SoBab grdoes sOEGEs F5S

@8 DY FTSoBPN Foo=S Soeor (BHEEE,S

Dogr-Korr Porssned” (BIITo  Surd
5508 S0 S ($0d TIS° HEoSKO

(1) Kore, aHBNS Sodakn Koks

(2) oG, Kfore Bk @THHES

(3) Hom, cHSNS S Iof

(4) Horr, £ 000k Mot

Aervoswds 1) IS0 BTSN

POS0E0 BSoS BEwes’ O Fusns
o5& & $ob TE 1HGoKHE

(1) 1
(2 3
3) b
4 7
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35‘

37.

38.

Which recent International agreements have a
bearing on Disaster Management ?

(1) Sendai Framework

(2) Sustainable
2015 - 2030

Development Goals

(3) Paris Agreement on Climate Change
(4) Al of the above

At which stage of disaster management cycle,
would “response” be the main activity ?

(1) Pre-disaster
(2) Disaster
(3) Post-disaster

(4) Devastating

As per the High Powered Disaster
Management Committee Report, 2001, in
terms of vulnerability, an L2 type indicates
manageability with resources at

(1) Village level

(2) Taluk/Mandal level
(3) District level

(4) State level

What is “The Limits to Growth” ?
(1) Limits set by Society on growth

(2) Limits
growth

set by Industry Cartels on

(8) A 1972 book on computer simulation of
growth with finite resource supplies

(4) Government’s
growth

inability to improve

(13)

35.

37.

38‘

[B]
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39.

40.

41.

What was the theme of World Environment
Day, 2016 celebrated on 5" June ?

(1) “To prohibit illegal trade of threatened”

(2) “Seven Billion Dreams; One Planet;

Consume with Care”

(3) “Small Islands and Climate Change”

(4) “Think, Eat, Save”

What is the period for which Hyderabad shall
be the common capital of the states of Andhra
Pradesh and Telangana as per Section 5 of the

AP Reorganization Act, 2014 ?
(1) 10 years

(2) Not exceeding 10 years
(3) Above 10 years

(4) None of the above

The number of organizations included in the
X% Schedule of the AP Reorganization Act,
2014 as on date is

(1) 142

(2) 135

3 112

(4) 107

Who heads the Apex Council for supervision of
functioning of Godavari and Krishna River
Management Boards ?

(1
(2)
3)

Governor of AP & TS
Prime Minister of India

Minister of Water
Government of India

Resources,

(4) Chairman, Central Water Commission

(14)

39.

40.

41‘
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43.

What is the FRL (full reservoir level) of the
Polavaram project ?

(1) 100 feet
(2) 135 feet
(3) 150 feet
(4) 170 feet

As recommended by the 14'"® Finance
Commission, the primary route for transfer of
resources from Centre to States shall be
through

(1) Devolution of taxes

(2)  On the basis of population

(3)  On the basis of economic backwardness
(4) None of the above

Which one of the below is not one of the most
important components of Green Revolution ?

(1) HYV seeds
(2) Chemical fertilizers
(8) Irrigation facilities

(4) Credit facilities

The focus of “Make in India” programme is on
how many sectors ?

n 12
(2) 25
(3) 36
(4) 50

(15)
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47.

48.

PMKVY means

(1) Pradhan Mantri Krishi Vikas Yojana
(2) Pradhan Mantri Kaushal Vikas Yojana
(3) Pradhan Mantri Karmik Vikas Yojana

(4) Pradhan Mantri Kamkaj Vikas Yojana

Archimedes : Buoyancy :: Newton : ?
(1) Apple

(2) Principia

(8) Gravitation

(4) Machine

Observe the diagrams below and state which
number on the dice is opposite to 6 :

2 2
@ 1

4) 3

If ELEPHANT is
DELICATE is

LSLWOHUA, then

(1) KLSWPJHL
(2) KLSPHJAL
(3) KLSPJHAL

(4) KLSHPAJL

(16)

417.

49.

[B]
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51.

52,

53.

54.

SECTION II

Which hydraulic turbine is more efficient at
part load operation ?

(1) Pelton wheel

(2) Francis turbine
(3) Propeller turbine
(4) Kaplan turbine

In an inward flow reaction turbine, velocity of
flow at the inlet is 2 m/s. If the guide vanes
make an angle of 30° to the tangential velocity
direction of the runner, the absolute velocity of
the water leaving the guide vanes is

(1) 1mfs
(2) 2m/s
(3) 3mk
(4) 4mfs

In a laminar boundary layer over a flat plate,
the growth of the boundary layer with
distance x from leading ledge given by 8/x is
proportional to Reynolds number (Re,) as

(1) Rel?
(2) Re;]‘m
3 Rel/S
(4) Re;u 5

The cavitation parameter ¢ is defined in terms
of net positive suction head (NPSH) and net
head H as

(1) NPSH/JVH
(2) H/NPSH
(8) H/J/NPSH

(4) NPSH/H

(17)

55.

56.

87,

o]

The momentum correction factor is used to
account for

(1) Change in direction of flow

(2) Change in pressure

(3) Non-uniform distribution of velocity
(4) Unsteady flow

Centre of Pressure is

(1) Always below the centroid of the
submerged plane

(2) Always at the centroid of the submerged
plane

(3) Always above the centroid of the
submerged plane

(4) Anywhere with respect to the centroid of

the submerged plane

What is a condition for a hydraulically
efficient channel ?

(1) Minimum flow rate

(2) Maximum wetted perimeter
(3) Constant velocity

(4) Minimum wetted perimeter
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58.

59.

If three forces P, Q and R keep a body in
equilibrium, the angle between P and Q is 90°
and R is acting vertically downward, then the
magnitude of forces R and Q respectively in
terms of P will be

P
1) —, v2P
( 5 J2

2 2P, %

%
P, V2P

J2P,P

(3)

(4)

The algebraic sum of moments of two unlike
parallel forces about any point in their plane
will be

(1) Zero

(2) Constant

(3) Always anticlockwise

(4) Always clockwise

If the number of members (m) in a frame
having joints (j) is more than that required by
the equation m = 2j — 3, then such frames are

called
(1) Ideal frames
(2) Imperfect frames
(3) Perfect frames

(4) Redundant frames

(18)

61.

62.

(5]

A steel bar of 500 mm length is under tensile
stress of 100 N/mm? If the modulus of
elasticity is 2x 1011 N/m2? then the total
elongation of the bar will be

(1) 0-26 mm

(2) 250 mm

(8) 500 mm

(4) 050 mm

Hoop stress for a wooden wheel with steel flat
tyre in terms of outside diameter of the wheel
D, inside diameter of the tyre d and Young’s
modulus E is

(1) EMD-d/d
(2) EMD/d)
E(D/(D - d))

E(d/D)

(3)

(4

A tensile force P is applied on a compound bar
having two members X and Y. Then the load
shared by the member X is

PALE
AgEy +AJE,

(1)

PAE,
AyEy +AJES

(2)

(3) PB/2
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64.

87.

The relation between the elastic constants E
and C for Poisson’s ratio of 0-25 is

(1)
(2)

E=10C
E=5C
3) E=25C
(4) E=025C

The radius of Mohr’s circle represents

(1) Minimum normal stress

(2) Maximum normal stress
(8) Minimum shear stress
(4) Maximum shear stress

For an inclined plane in a rectangular block
subjected to two mutually perpendicular
normal stresses 1000 MPa and 400 MPa and
shear stress 400 MPa, the maximum normal
stress will be

(1) 1200 MPa

(2) 700 MPa

(3) 600 MPa

(4) 200 MPa

At a hinge in a beam

(1)  Shear force is zero

(2) Bending moment is maximum
(3) Bending moment is zero

(4) Bending moment changes sign

(19)

68.

71.

(D]

The bending moment for a beam with equal
overhangs and carrying equal point loads each
of P at the free ends, the shear force for the
beam portion between the supports is

(1)
(2
(3
(4)

Zero

Equal to P

Linearly varying from — P to + P
Linearly varying from 0 to P

The assumption made in the theory of bending
is

(1)
(2)
3

Radius of curvature is small
Radius of curvature is large

Transverse sections of the beam do not
remain plane after bending

(4) Doesn’t follow Hooke’s law in bending

In a beam of rectangular cross-section, the
ratio of the maximum shear stress to the
average shear stress is

(1) 250
(2) 2-00
(3) 150
(4) 133

A simply supported beam of 10 m span is
carrying a load of 4-8 kN at mid span. If
Young’s modulus of elasticity (E) is
2 x 10® kN/m? and moment of inertia (D is
20 em®, then the maximum deflection will be

(1) 5-:00 mm
(2) 250 mm
(3) 050 mm

(4) 025 mm
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72.

73.

4.

75.

(20)

The differential equation of flexure is 76.

2
(1) EI 9—§ =—M
@ E1Y 2

dx

2
@) EI d—g - M2

2
@ M :_xg - _EI

The slenderness ratio of a free standing
column of length 4 m and 40 mm x 40 mm

section is

1) 1152
(2) 2304
(3) 6928
(4) 3468

Euler’s crippling load for a column of length [
with both ends hinged and flexural rigidity EI
is given by

(1) P=2r%El/2
(2) P=n2El/2
(3) P=4n’El/I?
(4) P=n’El/4l?
For shaft in torsion
g I
mn = 3
co 1
(2) T
q _Ce
@) ig e —

(4) All the above

.

78.

[B]

The ratio of maximum shear stress of a solid
shaft of diameter D to that of a hollow shaft
having external diameter D and internal
diameter 0-5 D is

(1) 050
(2) 100
3 150
(4) 094

Section modulus (Z) for a

rectangular

cross-section is

(1) bh312
(2) bh6
(3) bh%12
(4) bh%e

The reaction at a roller support of a beam will
be

(1) Tangential to the support
(2) Normal to the support

(3) Unknown in direction

(4) Inclined to the support

For a beam subjected to point loads, the shear

force between the point loads
(1) Isconstant
(2) Varies linearly

(3)

Has parabolic variation

(4)

Always remains zero
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80,

Bll

82'

The strain energy stored due to bending for a
cantilever beam of span I/, modulus of
elasticity E, moment of inertia I and a point

load P at the free end is
(1) PZ3/(BED

(2) P%5/(40ED)

(3) P%3/(96EI)

(4)  P%5/(240ED)

The method in which a single equation is
formed for all loads on the beam and the
equation is constructed in such a way that the
integral constants apply to all the sections of
the beam, is

(1) Moment area method

(2) Conjugate beam method

(8) Macaulay’s method

(4)  6-method of superposition

A cantilever beam with a UDL of w N/m for
entire length of L will have maximum
deflection equal to

(1) wL4/(48ED)

(2) wL4/(384EI)
@) wL¥(8ED

(4) wL4(3ED

(21)

83.

85.

What is poise ?
(1)  Unit of viscosity
(2) Dyne-sec/cm?
(3) 01 times Ns/m?

(4) All the above

Surface tension has the units of

(1) Nm
(2) N/m
(3) N/m?
(4) N/m?®

The ratio of specific heat of a gas at constant
pressure and the specific heat of the gas at
constant volume

(1) Isalways constant

(2) Varies with temperature
(3)  Varies with pressure

(4) Is not constant

A perfect gas obeys

(1)  Boyle’s law only

(2) Charles’ law only

(3) Both Boyle’s law and Charles’ law

(4) None of the above
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87.

88.

89.

90.

The thermal efficiency of an engine, which is
supplied heat at the rate of 15000 Nm/s and

gives an output of 4500 W is
(1) 45%
(2) 50%
(3) 30%
4) 33%

Micro-manometer is used to

(1) Determine low pressure difference

(2) Determine higher pressure difference
(3) Measure pressure for gases only

(4) Measure pressure in congested areas
Prandtl’s Pitot tube measures

(1) Stagnation head only

(2) Pressure head only

(3) Velocity head and Stagnation head
(4) Pressure head and Stagnation head

Based on the principle of conservation

energy, the equation derived for an ideal fluid

18

(1) Bernoulli’s equation

(2) Newton’s Law of Viscosity

(8) Impulse-momentum equation
(4) Continuity equation

(22)

91.

93.

of
94,

(o]

Mouthpiece has increased net head when
compared to small orifice due to

(1)
(2)
(3)
(4)

Turbulence in the tube
Vena contracta occurred within the tube
Smaller length of the tube

Smooth boundary of the tube

If velocity potential satisfies Laplace equation,

the flow will be

(1) Irrotational flow
(2) Free vortex flow
(8) Continuous flow

4)

Forced vortex flow

The ratio of viscous forces to inertial forces is

called
(1)
(2)
(3)
(4)

Mach number
Weber number
Reynolds number

Froude number

If the position of metacentre remains lower

than centre of gravity of the floating body, the

body will remain in a state of

(1
(2)
(3)
(4)

Stable equilibrium
Unstable equilibrium
Neutral equilibrium

None of the above
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95. The error in discharge due to error in the |98.
measurement of head over a rectangular notch
is given by
dQ 1dH
1 —_—= =
(1) Q > H
dQ 3dH
g =g Uue
(2) Q 2H
dQ 38dH
(3) Q 18
dQ 5dH
) ===
(4) Q 2 H
96. Impulse momentum equation gives the
relationship between. force (F), mass (m) and
velocity (v) as
99.
dm
(1) F-VE;;_
@ rF=ldv
m dt
d(mv)
F=
3) 3t
dv
4 =vV—
4) F=v -

(1)

(2)

3

4)

In turbulent flow, the loss of head is
approximately proportional to

Velocity
(Velocity) V2

(Velocity)¥4

(Velocity)?

1%‘

(o]

A rigid pipe of length L, diameter D, wall
thickness t and modulus of elasticity E is
conveying water with a mean velocity of V. If
mass density and bulk modulus of water are p
and K respectively, then water hammer due to
sudden closure in the pipe will cause increase
in pressure equal to

(1) pLV/t
(2) V JpK
L, i i (P L
* %)
(4) None of the above

The discharge from a centrifugal pump is
100 Ipm and the leakage is 11 Ipm. Then the

volumetric efficiency of the pump is

(1) 89%
(2) 90%
(3) 99%
4) 80%

Draft tube for a reaction turbine is arranged
for

(1)  Safety purpose only

(2)  Increasing velocity head

(3) Converting kinetic head into pressure

(4)

head

Diverting water only
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101.

102.

108.

SECTION III

The correct length of a 100 m tape, weighing
94 N, when a pull of 200 N is applied at the
ends freely suspended, is

(1) 100-12m
(2) 10006 m
(3) 9988 m
(4) 9994m

If the radius of a circular curve is 100 m and
deflection angle is 90°, then the length of the
backward tangent is

(1) 141'4m
(2) 707Tm
(3) 100m
(4) 50m

Northing, easting and elevation are obtained
in

(1) Chain surveying

(2) Compass surveying

(3) Auto level surveying

(4) Total station surveying

(24)

(o]

. The type of Bitumen for which the viscosity

has been decreased by a volatile dilutant is
known as

(1) Super Bitumen
(2) Cutback Bitumen
(3) Lighter Bitumen

(4) Fast Bitumen

Benkelman beam deflection method is used for
the design of

(1) Rigid overlay on rigid pavement
(2) Flexible overlay on flexible pavement
(3) Flexible overlay on rigid pavement

(4) Rigid overlay on flexible pavement

The absolute minimum radius for a horizontal
curve designed for a speed of 80 kmph, given
the permissible values of superelevation and
coefficient of friction are 0-04 and 0-16, is

(1) 458m
(2) 252m
(3 150m
(4) 105m
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107.

108.

1%‘

110.

The Indian standard brick size is
(1) 19emx9cmx9cm

(2) 18emx9cmx9cm

(3) 20emx10cm x 10 cm

(4) 20emx10cm x9em

The first-class brick immersed in water for
24 hours should not absorb water (by weight)

more than
(1) 5%

(2) 10%
(3) 15%
4) 20%

Seasoning of timber is done to

(1)  Reduce weight only

(2)  Make it soft only

(3) Prevent shrinkage and warping

(4) Increase moisture content

IS 12269 deals with

(1) 53 grade ordinary portland cement
(2) 43 grade ordinary portland cement
(3) 38 grade ordinary portland cement

(4) Sleeper cements

(25)

112,

113.

114.

(1)
(2)
(3)
(4)

(0]

111. Workability of concrete may be measured by

Slump test
Minimum void method
Maximum density method

Fineness modulus method

Ultrasonic pulse velocity measurements may
be used to establish

(1)
(2)
(3)

(4)

Homogeneity of concrete
Presence of cracks and voids

Quality of concrete in relation to
standard requirements

All the above

In the analyses of plane frame, the stiffness
factor at a joint is taken equal to the sum of
stiffness factors of the members connected to

the joint by using

(1) Principle of virtual work

(2) Principlg of angular momentum
(3)  Principle of superposition

(4)  Principle of minimum work done

The principle of virtual work is applied to an
elastic system by considering virtual work

done by
(1)  Internal forces only
(2)  External forces only

(3)
(4)

Internal as well as external forces

None of the above
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116‘

116.

117.

118.

The deflection at any point of a perfect frame

can be obtained by applying a unit load at the

joint in

(1) The direction in which the deflection is
required

(2) Vertical direction

(3) Horizontal direction

(4) Inclined direction

In the procedure of Macaulay’s method, for
getting the deflection equation

(1) The differential equation of flexure is
integrated for once

(2) The differential equation of flexure is
integrated for twice

(3) The differential equation of flexure is
integrated for thrice

(4) None of the above

The Castigliano’s second theorem can be used
to compute deflections

(1) In statistically determinate structures
only

(2) At the point under the load only
(8) For beams and frames only
(4) For any type of structure

The width of analogous column in the method
of analogy is

(1) 2/(ED
2 ED
@ 1/2ED

(4) 1/4ED

(26)

(B

119. In slope deflection equations, the deformations

are considered to be caused by
(1) Axial force

(2) Shear force

(3) Bending moment

(4) All the above

120. As per 1S-800, the minimum pitch of bolts in a

row of bolts is recommended as the diameter
of the bolt times

1) 20
2) 25
3 30
4) 40

. In a fillet weld, the weakest section is the

(1) Smaller side of the fillet
(2) Throat of the fillet
(3) Side perpendicular to force

(4) Side parallel to force

In rolled steel beams, major part of bending
moment is resisted by

(1) Flanges
(2) Web
(3) Flanges and web

(4) Flanges, web and fillets
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128. Load on connection is not eccentric for 127.
(1) Lapjoint
(2) Single cover butt joint

124,

125.

128.

(3)
(4)

Double cover butt joint
All the above

A steel column in a structure carries a load of
125 kN. It is built up of 2 ISMC 350 channels
connected by lacing. The lacing carries a load
of

(1)
(2)
(3)
(4)

125 kN
12:5 kN
3-125 kN

Zero

The section in which concrete is not fully
stressed to its maximum permissible value
while stress in steel reaches its maximum
value, is called

(1)
(2)
(8)
(4)

Under-reinforced section
Critical section
Over-reinforced section

Balanced section

The centre-to-centre
stirrups, in a rectangular reinforced concrete

spacing of wvertical

beam is

(1)  Increased towards the centre of the span
of the beam

(2) Decreased towards the centre of the

span of the beam
(3)
(4)

Increased at the ends
Maintained non-uniformly

128,

129.

130.

(D]

Maximum reinforcement in an RCC beam of
dimension b x D shall not exceed

(1) 0-06 bD
(2) 004bD
(3) 0-02bD
(4) 0-08bD

The diameter of longitudinal bars in a column
should not be less than

(1) 4mm
(2) 8mm
(3) 12mm
(4) 16 mm

The profile of the prestressing steel in
prestressed concrete member follows

(1) +Axial force diagram

(2)  Shear force diagram

(3) Bending moment diagram

(4) None of the above

for and

The establishing
maintaining priorities among various jobs of a

technique

project is known as
(1)  Event flow scheduling technique
(2)  Short interval scheduling
(8)  Critical ratio scheduling

(4)  Slotting technique for scheduling
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131.

132,

133.

The performance of a specific task in CPM is
known as

(1) Dummy

(2) Event

(8) Contract

(4)  Activity

If a is the optimistic time, b is the pessimistic
time and m is the most likely time of an
activity, the expected time of the activity is

(1) (a+m+b)/6

(2) (a+2m+hb)/6
(8 (a+4m+Db)/6
(4) (a+5m+b)/6

The field capacity of a soil is 25%, its
permanent wilting point is 15% and specific
dry unit weight is 1-5. If the depth of root zone
of a crop is 80 cm, the storage capacity of the
soil is

(1) 8em

(2) 10cm
(8) 12em
(4) 1l4cm

(28)

134.

185.

136.

137.

o]

One of the basic assumptions made in unit
hydrograph theory is

(1) Rainfall is wuniform all over

catchment

the

(2) Base flow is considered

(3) Rainfall varies with time

(4) All the above

A process determining outflow pattern from
reservoirs for any given pattern of inflow,
storage and tail-water condition is known as

(1) Hydrograph
(2) Flood discharge
(3) Run-off estimate

(4) Flood routing
The recording type rain gauge gives

(1) Mass curve of rainfall

(2) Hydrograph

(3) Total rainfall of 24 hours period
(4) Monthly rainfall

Lacey’s regime width (W) for a channel having

flood discharge of Q is given by
1) W=135QY
@ W=475Q"Y
3 W=135@Q"

4 W=475@Q"Y
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138. The solid roller bucket is arranged at the end | 141.
of a spillway to
(1)  Measure the discharge
(2) Provide stability to the spillway
(8) Trap silt from flowing water
(4) Dissipate energy through hydraulic
jump
142,
139. To aveid gravity dam failure by crushing for
the dam material of allowable stress
300 t/sqgm and specific gravity 2-4, the
limiting height is equal to
(1) 8823m
(2) 12525m
(3) 21429m
(4) >21429m
143.
140, The recommended maximum water supply

needs as per CPHEEO guidelines for
metropolitan and mega cities where sewerage
system is existing or contemplated, in litres

per capita per day (Ipcd), is

(1) 45
(2) 70
(3) 136

(4) 150

(5]

Dental caries, a disease caused by drinking
water, is due to

(1) Excess of fluorine
(2) Absence of fluorine
(3) Excess of nitrates

(4) Presence of lead

If the BOD of a diluted sample in 1 : 100 ratio
is 11 PPM in the beginning and 8 PPM at the
end of 5 days, then the BOD of the sample is

(1) 300 PPM

(2) 950 PPM

(3) 1375 PPM

(4) 73PPM

The peak factor suggested by CPHEEO for
computing carrying capacity in the design of
sewers for the contributory population of

20,000 is
(1) 200
(2) 225
(3) 250

4) 300
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144.

145.

146.

The tolerance limit of pH for industrial

effluents discharged into inland surface

waters is

(1) Lessthan 55

(2) b55t090

(3) Above 90

(4) Must be 7 only

The relationship involving voids ratio (e),
degree of saturation (S), water content (w) and
specific gravity of soil solids (G) is given by

(1) wSe=G

(2) we=8G

(8) wS=Ge

4) wG=Se

A clay soil sample has unconfined compression
strengths in the undisturbed state and
remoulded state 200 kN/sq.m and 60 kN/sq.m

respectively. Then its sensitivity is
(1) 260

(2) 140

3 03

(4) 333

(30)

147.

148.

149.

150.

o

The core-cutter method for determining in-situ
unit weight is suitable for

(1) Soils containing gravel particles

(2) Stiff clays

(3) Soft cohesive soils

(4) Sandy soils

The average permeability for a flow

perpendicular to the bedding planes when
compared to the average permeability for the
flow parallel to the bedding planes is

(1) Always less

(2) Always greater
(3) Always equal

(4) Lesser or greater

The earth pressure theory that is used for the
design of cantilever retaining wall is

(1) Meyerhof’s theory
(2) Rankine'’s theory
(8) Terzaghi’s theory
(4) Skempton’s theory

California Bearing Ratio (CBR) is a

(1) Measure of soil strength

(2) Procedure for designing flexible
pavements

(3) Method of soil identification

(4) Measure to indicate the relative

strengths of paving materials

T e T ———
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SPACE FOR ROUGH WORK
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